

Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

 185 HOSPITAL DR
 Account Number: 432222

 WARREN PA 16365-4896
 Site Number: 478892

WARREN, PA 16365-4896 Site N	lumber: 478892		
Section Summary	Value of All Materials	Free Materials	Product Subtotal
Wonders	\$0.00	\$0.00	\$0.00
Grade K	\$53,324.10	(\$13,428.00)	\$39,896.10
Grade 1	\$161,735.19	(\$77,147.10)	\$84,588.09
Grade 2	\$106,014.24	(\$57,730.05)	\$48,284.19
Grade 3	\$117,171.69	(\$66,894.30)	\$50,277.39
Grade 4	\$107,048.34	(\$66,894.30)	\$40,154.04
Grade 5	\$107,048.34	(\$66,894.30)	\$40,154.04
<u>WonderWorks</u>	\$130,662.30	(\$130,662.30)	\$0.00
Social Studies - Networks	\$0.00	\$0.00	\$0.00
Grade 4 Networks	\$49,541.73	(\$16,168.74)	\$33,372.99
Grade 5 Networks	\$43,947.69	(\$39,249.49)	\$4,698.20

VALUE OF ALL MATERIALS	\$876,493.62
FREE MATERIALS	(\$535,068.58)
PRODUCT TOTAL*	\$341,425.04
ESTIMATED SHIPPING & HANDLING**	\$9,226.00
ESTIMATED TAX**	TBD
GRAND TOTAL*	\$350,651.04

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

# Comments:

## Shari Reed

### Sales Representative

 ${\it Email: shari.reed@mheducation.com}$ 

Send Order to: McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344 Fax: 1-800-953-8691



Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

Sales Representative: Shari Reed

185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

I-800-334-7344 Fax: 1-800-953-8691

Site Number: 478892

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Wonders					

Wonders Subtotal: \$0.00 \$0.00



Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)
Sales Representative: Shari Reed
185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

only party and naturally distinged shown are only estimated. Actual shipping and naturally changes will be applied at time of order.						
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal	
Grade K						
READING WONDERS KINDERGARTEN SYSTEM 6 YEAR SUBSCRIPTION	978-0-02-119302-8	15	\$2,651.19	\$0.00	\$39,767.85	
READING WONDERS YOUR TURN PRACTICE BOOK GRADE K	978-0-02-119363-9	15	\$8.55	\$0.00	\$128.25	
	*Inclu	ided in the Kindergarten System				
* READING WONDERS TEACHER EDITION PACKAGE GRADE K	978-0-02-119333-2	10	\$537.12	\$5,371.20	*Free Materials	
* READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE K	978-0-02-119506-0	15	\$537.12	\$8,056.80	*Free Materials	
* READING WONDERS BIG BOOKS PACKAGE GRADE K	978-0-02-119336-3	0	\$1,473.93	\$0.00	\$0.00	
* CORE READING READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE K	978-0-02-127498-7	0	\$455.13	\$0.00	\$0.00	
* READING WONDERS READING WRITING WORKSHOP START SMART GRADE K	978-0-02-119713-2	0	\$10.62	\$0.00	\$0.00	
* READING WONDERS READING WRITING WORKSHOP VOLUME 1 GRADE K	978-0-02-119714-9	0	\$10.62	\$0.00	\$0.00	
* READING WONDERS READING WRITING WORKSHOP VOLUME 2 GRADE K	978-0-02-119650-0	0	\$10.62	\$0.00	\$0.00	
* READING WONDERS READING WRITING WORKSHOP VOLUME 3 GRADE K	978-0-02-119651-7	0	\$10.62	\$0.00	\$0.00	

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

* READING WONDERS READING WRITING WORKSHOP VOLUME 4 GRADE K	978-0-02-119715-6	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHOP VOLUME 5 GRADE K	978-0-02-119716-3	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHOP VOLUME 6 GRADE K	978-0-02-119717-0	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHIP VOLUME 7 GRADE K	978-0-02-119578-7	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHOP VOLUME 8 GRADE K	978-0-02-119718-7	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHOP VOLUME 9 GRADE K	978-0-02-119719-4	0	\$10.62	\$0.00	\$0.00
* READING WONDERS READING WRITING WORKSHOP VOLUME 10 GRADE K	978-0-02-119721-7	0	\$10.62	\$0.00	\$0.00
* READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	0	\$63.66	\$0.00	\$0.00
* READING WONDERS VISUAL VOCABULARY CARDS GRADE K	978-0-02-119368-4	0	\$65.46	\$0.00	\$0.00
* READING WONDERS RETELLING CARDS GRADE K	978-0-02-119361-5	0	\$270.15	\$0.00	\$0.00
* READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE K	978-0-02-119293-9	0	\$176.88	\$0.00	\$0.00
* READING WONDERS HIGH FREQUENCY WORD CARDS GRADE K	978-0-02-119290-8	0	\$57.39	\$0.00	\$0.00
* READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	0	\$165.45	\$0.00	\$0.00
* READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	0	\$58.17	\$0.00	\$0.00
* READING WONDERS SOUND SPELLING LARGE CARDS GRADE K-6	978-0-02-119515-2	0	\$119.37	\$0.00	\$0.00
* READING WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	0	\$94.50	\$0.00	\$0.00

READING WONDERS LEVELED READER IBRARY PACKAGE APPROACHING GRADE K	978-0-02-119334-9	0	\$884.55	\$0.00	\$0.00
READING WONDERS LEVELED READER ACKAGE ON-LEVEL GRADE K	978-0-02-119490-2	0	\$884.55	\$0.00	\$0.00
READING WONDERS LEVELED READER IBRARY PACKAGE BEYOND GRADE K	978-0-02-119337-0	0	\$884.55	\$0.00	\$0.00
READING WONDERS UNIT ASSESSMENT SRADE K	978-0-02-127094-1	0	\$52.14	\$0.00	\$0.00
READING WONDERS BENCHMARK SSESSMENT GRADE K	978-0-02-127081-1	0	\$52.14	\$0.00	\$0.00
PUPPET	978-0-02-202039-2	0	\$22.29	\$0.00	\$0.00

Grade K Subtotal: \$13,428.00 \$39,896.10

Site Number: 478892

Fax: 1-800-953-8691



### Price Quote For:

Warren County Sch Dist

Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

Sales Representative: Shari Reed

185 HOSPITAL DR

(shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222

## Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

 ${\bf Orders\_MHE@mheducation.com}$ 

\* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

\*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.						
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal	
Grade 1						
READING WONDERS READING WRITING WORKSHOP 6 YEAR SUBSCRIPTION GRADE 1	978-0-02-119567-1	163	\$142.23	\$0.00	\$23,183.49	
READING WONDERS COMPREHENSIVE PROGRAM 6 YEAR SUBSCRIPTION GRADE 1	978-0-02-119566-4	175	\$167.34	\$0.00	\$29,284.50	
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 1	978-0-02-119532-9	15	\$8.49	\$0.00	\$127.35	
READING WONDERS TEACHER EDITION PACKAGE GRADE 1	978-0-02-119574-9	25	\$537.12	\$13,428.00	*Free Materials	
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 1	978-0-02-119508-4	30	\$537.12	\$16,113.60	*Free Materials	
READING WONDERS LITERATURE BIG BOOKS PACKAGE GRADE 1	978-0-02-119524-4	15	\$789.99	\$0.00	\$11,849.85	

CORE READING READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE 1	978-0-02-127499-4	15	\$248.25	\$0.00	\$3,723.75
READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	15	\$63.66	\$954.90	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 1	978-0-02-119537-4	15	\$65.46	\$981.90	*Free Materials
READING WONDERS RETELLING CARDS GRADE	978-0-02-119538-1	15	\$270.15	\$4,052.25	*Free Materials
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 1	978-0-02-119539-8	15	\$118.80	\$1,782.00	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 1	978-0-02-119521-3	15	\$176.88	\$2,653.20	*Free Materials
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 1	978-0-02-119558-9	15	\$115.74	\$1,736.10	*Free Materials
READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	15	\$165.45	\$2,481.75	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	15	\$58.17	\$872.55	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADE K-6	978-0-02-119515-2	15	\$119.37	\$1,790.55	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	15	\$94.50	\$1,417.50	*Free Materials
READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 1	978-0-02-119561-9	15	\$884.55	\$13,268.25	*Free Materials
READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 1	978-0-02-119577-0	15	\$884.55	\$0.00	\$13,268.25
READING WONDERS LEVELED READER PACKAGE BEYOND GRADE 1	978-0-02-119662-3	15	\$884.55	\$13,268.25	*Free Materials
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 1	978-0-02-129698-9	15	\$210.06	\$0.00	\$3,150.90
READING WONDERS WEEKLY ASSESSMENT GRADE 1	978-0-02-127088-0	15	\$52.14	\$782.10	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 1	978-0-02-127095-8	15	\$52.14	\$782.10	*Free Materials

READING WONDERS BENCHMARK ASSESSMENT GRADE 1	978-0-02-127082-8	15	\$52.14	\$782.10	*Free Materials
---	-------------------	----	---------	----------	-----------------

Grade 1 Subtotal: \$77,147.10 \$84,588.09



Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

Sales Representative: Shari Reed

185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

- \* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
- \*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.					
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 2					
READING WONDERS READING/WRITING WORKSHOP 6 YEAR SUBSCRIPTION GRADE 2	978-0-02-119021-8	163	\$81.18	\$0.00	\$13,232.34
READING WONDERS COMPREHENSIVE PROGRAM 6 YEAR SUBSCRIPTION GRADE 2	978-0-02-119020-1	175	\$95.49	\$0.00	\$16,710.75
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2	978-0-02-118867-3	15	\$8.55	\$0.00	\$128.25
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 2	978-0-02-119852-8	30	\$537.12	\$16,113.60	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 2	978-0-02-118925-0	15	\$65.46	\$0.00	\$981.90
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2	978-0-02-118777-5	15	\$118.80	\$1,782.00	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2	978-0-02-118699-0	15	\$176.88	\$2,653.20	*Free Materials
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2	978-0-02-119022-5	15	\$115.74	\$1,736.10	*Free Materials
READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	15	\$165.45	\$2,481.75	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	15	\$58.17	\$872.55	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADE K-6	978-0-02-119515-2	15	\$119.37	\$1,790.55	*Free Materials

READING WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	15	\$94.50	\$1,417.50	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 2	978-0-02-118672-3	15	\$884.55	\$13,268.25	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE ON-LEVEL GRADE 2	978-0-02-119051-5	15	\$884.55	\$0.00	\$13,268.25
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 2	978-0-02-119052-2	15	\$884.55	\$13,268.25	*Free Materials
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2	978-0-02-129699-6	15	\$264.18	\$0.00	\$3,962.70
READING WONDERS WEEKLY ASSESSMENT GRADE 2	978-0-02-127089-7	15	\$52.14	\$782.10	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 2	978-0-02-127096-5	15	\$52.14	\$782.10	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 2	978-0-02-127083-5	15	\$52.14	\$782.10	*Free Materials

Grade 2 Subtotal: \$57,730.05 \$48,284.19

Fax: 1-800-953-8691



## Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gany Weber (gary.weber@wcsdpa.org)
Sales Representative: Shari Reed
185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

## Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Orders\_MHE@mheducation.com

\* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

\*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.					
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 3					
READING WONDERS READING WRITING WORKSHOP 6 YEAR SUBSCRIPTION GRADE 3	978-0-02-119221-2	163	\$86.58	\$0.00	\$14,112.54
READING WONDERS COMPREHENSIVE PROGRAM 6 YEAR SUBSCRIPTION GRADE 3	978-0-02-119065-2	175	\$101.85	\$0.00	\$17,823.75
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 3	978-0-02-118999-1	15	\$8.55	\$0.00	\$128.25

978-0-02-119220-5	25	\$537.12	\$13,428.00	*Free Materials
978-0-02-119498-8	30	\$537.12	\$16,113.60	*Free Materials
978-0-02-118782-9	15	\$65.46	\$0.00	\$981.90
978-0-02-119164-2	15	\$176.88	\$2,653.20	*Free Materials
978-0-02-118820-8	15	\$115.74	\$1,736.10	*Free Materials
978-0-02-119556-5	15	\$58.17	\$872.55	*Free Materials
978-0-02-119515-2	15	\$119.37	\$1,790.55	*Free Materials
978-0-02-118963-2	15	\$94.50	\$1,417.50	*Free Materials
978-0-02-119195-6	15	\$884.55	\$13,268.25	*Free Materials
978-0-02-118623-5	15	\$884.55	\$0.00	\$13,268.25
978-0-02-118624-2	15	\$884.55	\$13,268.25	*Free Materials
978-0-02-129700-9	15	\$264.18	\$0.00	\$3,962.70
978-0-02-127090-3	15	\$52.14	\$782.10	*Free Materials
978-0-02-127097-2	15	\$52.14	\$782.10	*Free Materials
978-0-02-127084-2	15	\$52.14	\$782.10	*Free Materials
	978-0-02-119498-8  978-0-02-118782-9  978-0-02-119164-2  978-0-02-119556-5  978-0-02-119515-2  978-0-02-118963-2  978-0-02-118963-2  978-0-02-118623-5  978-0-02-118624-2  978-0-02-129700-9  978-0-02-127090-3	978-0-02-119498-8 30 978-0-02-119782-9 15 978-0-02-119164-2 15 978-0-02-119556-5 16 978-0-02-119556-5 15 978-0-02-119953-2 15 978-0-02-11995-6 15 978-0-02-118623-5 15 978-0-02-118623-5 15	978-0-02-119498-8 30 \$537.12 978-0-02-119498-8 15 \$85.46 978-0-02-119164-2 15 \$176.88 978-0-02-119566-5 15 \$115.74 978-0-02-119566-5 15 \$419.37 978-0-02-119569-2 15 \$94.50 978-0-02-119632-2 15 \$94.50 978-0-02-119632-5 15 \$884.55 978-0-02-119624-2 15 \$884.55 978-0-02-119624-2 15 \$884.55	978-0-02-119498-8 30 \$537.12 \$16,113.60 978-0-02-11978-29 15 \$653.20 \$10.00 978-0-02-11978-29 15 \$15.00 \$176.88 \$2,653.20 978-0-02-119820-8 15 \$115.74 \$1,736.10 978-0-02-119858-5 15 \$115.74 \$1,736.10 978-0-02-119858-5 15 \$119.37 \$3,730.55 978-0-02-119883-2 15 \$119.37 \$3,730.55 978-0-02-11983-2 15 \$384.50 \$3,417.50 978-0-02-119858-5 15 \$384.55 \$3,3288.25 978-0-02-119858-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$384.55 \$3,3288.25 978-0-02-119822-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0-02-11982-5 15 \$3,000 978-0



Warren County Sch Dist
Gary Weber (gary.weber@wcsdpa.org)
185 HOSPITAL DR

Subscription/MCH:

Sales Representative: Shari Reed (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

Site Number: 478892

- \* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
- \*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.					
	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 4					
READING WONDERS READING/WRITING WORKSHOP 6 YEAR SUBSCRIPTION GRADE 4	978-0-02-118682-2	163	\$59.13	\$0.00	\$9,638.19
READING WONDERS COMPREHENSIVE PROGRAM 6 YEAR SUBSCRIPTION GRADE 4	978-0-02-118593-1	175	\$69.57	\$0.00	\$12,174.75
Reading Wonders Your Turn Practice Book, Grade 4	978-0-02-119057-7	15	\$8.55	\$0.00	\$128.25
READING WONDERS TEACHER EDITION PACKAGE GRADE 4	978-0-02-118591-7	25	\$537.12	\$13,428.00	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 4	978-0-02-119500-8	30	\$537.12	\$16,113.60	*Free Materials
Reading Wonders Visual Vocabulary Cards, Grade 4	978-0-02-118697-6	15	\$65.46	\$0.00	\$981.90
Reading Wonders Workstation Activity Cards Package, Grade 4	978-0-02-118695-2	15	\$176.88	\$2,653.20	*Free Materials
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 3-6	978-0-02-118820-8	15	\$115.74	\$1,736.10	*Free Materials
Reading Wonders Sound Spelling Small Cards, Grade K-6	978-0-02-119556-5	15	\$58.17	\$872.55	*Free Materials
Reading Wonders Sound Spelling Large Cards. Grade K-6	978-0-02-119515-2	15	\$119.37	\$1,790.55	*Free Materials
Reading Wonders Reading Response Boards, Grade 2-6	978-0-02-118963-2	15	\$94.50	\$1,417.50	*Free Materials
Reading Wonders Leveled Reader Package (6 of 30) Approaching, Grade 4	978-0-02-118747-8	15	\$884.55	\$13,268.25	*Free Materials
Reading Wonders Leveled Reader Package (6 of 30) On-Level Grade 4	978-0-02-119218-2	15	\$884.55	\$0.00	\$13,268.25

Reading Wonders Leveled Reader Package (6 ea. of 30) Beyond, Grade 4	978-0-02-118600-6	15	\$884.55	\$13,268.25	*Free Materials
Reading Wonders Classroom Library Package, Grade 4	978-0-02-129701-6	15	\$264.18	\$0.00	\$3,962.70
Reading Wonders Weekly Assessment, Grade 4	978-0-02-127091-0	15	\$52.14	\$782.10	*Free Materials
Reading Wonders Unit Assessment, Grade 4	978-0-02-127098-9	15	\$52.14	\$782.10	*Free Materials
Reading Wonders Benchmark Assessment, Grade 4	978-0-02-127085-9	15	\$52.14	\$782.10	*Free Materials
	•	•	•	•	

Grade 4 Subtotal: \$66,894.30 \$40,154.04



#### Price Quote For

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

Sales Representative: Shari Reed

185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

### Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.	I	nandling charges will be applied at time of order.	I	I	oo waa oo appaloa at aano o
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 5		·			
READING WONDERS READING WRITING WORKSHOP 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-119392-9	163	\$59.13	\$0.00	\$9,638.19
READING WONDERS COMPREHENSIVE PROGRAM 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-119352-3	175	\$69.57	\$0.00	\$12,174.75
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5	978-0-02-119224-3	15	\$8.55	\$0.00	\$128.25
READING WONDERS TEACHER EDITION PACKAGE GRADE 5	978-0-02-119362-2	25	\$537.12	\$13,428.00	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-119502-2	30	\$537.12	\$16,113.60	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 5	978-0-02-119230-4	15	\$65.46	\$0.00	\$981.90
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 5	978-0-02-119325-7	15	\$176.88	\$2,653.20	*Free Materials

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

READING WONDERS HIGH PREQUENCY WORD  OARDS GRADE 96  15  15  15  16  176-402-11800-8  176-402-11800-8  176-402-11800-8  18  18  18  18  18  18  18  18  18						
READING WONDERS SOUND SPELLING LARGE READING WONDERS SOUND SPELLING LARGE READING WONDERS READING RESPONSE READING WONDERS READING RESPONSE READING WONDERS LEVELED READER READING WONDERS		978-0-02-118820-8	15	\$115.74	\$1,736.10	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE 2-8 978-0-02-118963-2 15 \$984.50 \$113.750 "Free Materials READING WONDERS READING RESPONSE BOARDS GRADE 2-8 978-0-02-118963-2 15 \$984.50 \$13.268.25 "Free Materials READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 5 \$13.268.25 "Free Materials READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 5 \$13.268.25 "Free Materials READING WONDERS LEVELED READER PROVIDED FROM THE PACKAGE BEYOND GRADE 5 \$13.268.25 "Free Materials READING WONDERS LEVELED READER BT6-0-02-119370-7 15 \$884.56 \$13.268.25 "Free Materials READING WONDERS LEVELED READER BT7-0-02-119370-7 15 \$884.56 \$13.268.25 "Free Materials READING WONDERS CLASSROOM TRADE BT7-0-02-119370-7 15 \$264.18 \$0.00 \$3.362.70 "Free Materials READING WONDERS CLASSROOM TRADE BT7-0-02-127092-7 15 \$524.18 \$732.10 "Free Materials READING WONDERS WEEKLY ASSESSMENT BT7-0-02-127092-7 15 \$52.14 \$732.10 "Free Materials READING WONDERS UNIT ASSESSMENT GRADE 5 \$78-0-02-127092-7 15 \$52.14 \$732.10 "Free Materials READING WONDERS UNIT ASSESSMENT GRADE 5 \$78-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS UNIT ASSESSMENT GRADE 5 \$78-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials READING WONDERS BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials BENCHMARK BT7-0-02-127099-6 15 \$52.14 \$732.10 "Free Materials BENCHMARK BT7-0-02-127099-6 \$15 \$52.14 \$732.10 "Free Materials BENCHMARK BT7-0-02-127099-6 \$15 \$52.14 \$732.10 "Free Materials BT7-0-02-12		978-0-02-119556-5	15	\$58.17	\$872.55	*Free Materials
### READING WONDERS LEVELED READER PRO-02-119395-0 15 \$884.55 \$13.268.25 "Free Materials READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 5 978-0-02-119396-7 15 \$884.55 \$0.00 \$13.268.25 "Free Materials READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 5 \$78-0-02-119396-7 15 \$884.55 \$13.268.25 "Free Materials READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 5 978-0-02-119370-7 15 \$884.55 \$13.268.25 "Free Materials READING WONDERS - CLASSROOM TRADE 978-0-02-129702-3 15 \$264.18 \$0.00 \$3.962.70 READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$78-0-02-127082-7 15 \$52.14 \$782.10 "Free Materials READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$78-0-02-127082-7 15 \$52.14 \$782.10 "Free Materials READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$78-0-02-127082-7 15 \$52.14 \$782.10 "Free Materials READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$78-0-02-127082-7 15 \$52.14 \$782.10 "Free Materials READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$78-0-02-127082-7 15 \$52.14 \$782.10 "Free Materials \$78-0-02-127082-7 \$15 \$52.14 \$782.10 "Free Materials \$15 \$15 \$15 \$15 \$15 \$15 \$15 \$15 \$15 \$15		978-0-02-119515-2	15	\$119.37	\$1,790.55	*Free Materials
PACKAGE APPROACHING GRADE 5  978-0-02-119399-0  15  \$884.55  \$0.00  \$13,268.25  READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 5  978-0-02-119390-7  15  \$884.55  \$13,268.25  *Free Materials  #Free Materials  READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 6  978-0-02-119370-7  15  \$884.55  \$13,268.25  *Free Materials  #Free Materials  READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 5  978-0-02-129702-3  15  \$264.18  \$0.00  \$3,962.70  *Free Materials  READING WONDERS WEEKLY ASSESSMENT GRADE 5  \$78-0-02-127099-6  15  \$52.14  \$782.10  *Free Materials  READING WONDERS UNIT ASSESSMENT GRADE  978-0-02-127099-6  15  \$52.14  \$782.10  *Free Materials		978-0-02-118963-2	15	\$94.50	\$1,417.50	*Free Materials
PACKAGE ON-LEVEL GRADE 5 978-0-02-119396-7 15 \$884.55 \$0.00 \$13,268.25 \$13,26		978-0-02-119395-0	15	\$884.55	\$13,268.25	*Free Materials
LIBRARY PACKAGE BEYOND GRADE 5  978-0-02-119370-7  15  \$884.55  \$13,268.25  Free Materials  READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 5  978-0-02-129702-3  15  \$264.18  \$0.00  \$3,962.70  READING WONDERS WEEKLY ASSESSMENT GRADE 5  978-0-02-127092-7  15  \$52.14  \$782.10  Free Materials  READING WONDERS UNIT ASSESSMENT GRADE 5  READING WONDERS UNIT ASSESSMENT GRADE 5  READING WONDERS BENCHMARK  978-0-02-127099-6  15  \$52.14  \$782.10  Free Materials		978-0-02-119396-7	15	\$884.55	\$0.00	\$13,268.25
BOOK LIBRARY GRADE 5 978-0-02-129702-3 15 \$2.0.0 \$3,962.70  READING WONDERS WEEKLY ASSESSMENT GRADE 5 \$52.14 \$782.10 *Free Materials  READING WONDERS UNIT ASSESSMENT GRADE 5 \$52.14 \$782.10 *Free Materials  READING WONDERS UNIT ASSESSMENT GRADE 5 \$52.14 \$782.10 *Free Materials		978-0-02-119370-7	15	\$884.55	\$13,268.25	*Free Materials
GRADE 5         978-0-02-127092-7         15         \$52.14         \$782.10         *Free Materials           READING WONDERS UNIT ASSESSMENT GRADE 5         978-0-02-127099-6         15         \$52.14         \$782.10         *Free Materials           READING WONDERS BENCHMARK         078-0-02-127099-6         45         \$52.44         \$782.40         *Free Materials		978-0-02-129702-3	15	\$264.18	\$0.00	\$3,962.70
5 976-0-02-127099-6 15 \$52.14 \$762.10 Free Materials  READING WONDERS BENCHMARK 078 0.03 137096 6 45 \$52.44 \$770.00 \$7		978-0-02-127092-7	15	\$52.14	\$782.10	*Free Materials
	READING WONDERS UNIT ASSESSMENT GRADE 5	978-0-02-127099-6	15	\$52.14	\$782.10	*Free Materials
		978-0-02-127086-6	15	\$52.14	\$782.10	*Free Materials

\$66,894.30 \$40,154.04 Grade 5 Subtotal:



### Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org) Sales Representative: Shari Reed 185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222

### Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

Site Number: 478892

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WonderWorks					
WonderWorks Grade K					

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

978-0-02-129706-1	10	\$874.47	\$8,744.70	*Free Materials
978-0-02-129799-3	40	\$92.70	\$3,708.00	*Free Materials
	WonderWorks Grade K Subtotal:		\$12.452.70	\$0.00
	Worlder Works Grade R Subtotal.		\$12,432.70	\$0.00
978-0-02-129704-7	10	\$874.47	\$8,744.70	*Free Materials
978-0-02-129800-6	40	\$92.70	\$3,708.00	*Free Materials
<u> </u>	WonderWorks Grade 1 Subtotal:		\$12,452.70	\$0.00
978-0-02-129707-8	10	\$1,541.91	\$15,419.10	*Free Materials
978-0-02-129794-8	40	\$8.25	\$330.00	*Free Materials
978-0-02-130062-4	10	\$858.78	\$8,587.80	*Free Materials
978-0-02-129801-3	40	\$92.70	\$3,708.00	*Free Materials
l .	WonderWorks Grade 2 Subtotal:		\$28,044.90	\$0.00
978-0-02-129708-5	10	\$1,541.91	\$15,419.10	*Free Materials
978-0-02-129795-5	40	\$8.25	\$330.00	*Free Materials
978-0-02-130064-8	10	\$884.55	\$8,845.50	*Free Materials
978-0-02-129802-0	40	\$92.70	\$3,708.00	*Free Materials
	WonderWorks Grade 3 Subtotal:		\$28,302.60	\$0.00
I		Г		
978-0-02-129709-2	10	\$1,232.91	\$12,329.10	*Free Materials
	978-0-02-129704-7  978-0-02-129704-7  978-0-02-129800-6  978-0-02-129707-8  978-0-02-129794-8  978-0-02-129794-8  978-0-02-129795-5  978-0-02-129795-5	978-0-02-129704-7 10 978-0-02-129800-6 40  WonderWorks Grade 1 Subtotal:  WonderWorks Grade 1 Subtotal:  978-0-02-129707-8 10  978-0-02-129794-8 40  WonderWorks Grade 2 Subtotal:  WonderWorks Grade 2 Subtotal:  978-0-02-129708-5 10  978-0-02-129708-5 10  978-0-02-129708-5 40  WonderWorks Grade 3 Subtotal:  WonderWorks Grade 3 Subtotal:	978-0-02-129799-3 40 \$92.70  WonderWorks Grade K Subtotal:  978-0-02-129800-6 40 \$92.70  WonderWorks Grade 1 Subtotal:  978-0-02-129707-8 10 \$1,541.91  978-0-02-129794-8 40 \$82.50  978-0-02-129794-8 40 \$82.70  WonderWorks Grade 2 Subtotal:  978-0-02-129795-9 40 \$8.25  978-0-02-129795-9 40 \$8.25  978-0-02-129795-9 40 \$8.25  978-0-02-129795-9 40 \$8.25	978-0-12-12979-3 40 892.70 \$3.708.00  WonderWorks Grade K Subtotal: \$12.452.70  978-0-12-12970-7 10 \$874.47 \$87.44.70  978-0-12-12900-6 40 \$92.70 \$3.708.00  WonderWorks Grade 1 Subtotal: \$12.452.70  778-0-12-12979-8 10 \$1.541.91 \$15.419.10  978-0-12-12979-8 40 \$10 \$1.541.91 \$15.419.10  978-0-12-12979-8 10 \$3.708.00  WonderWorks Grade 2 Subtotal: \$28.542.00  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10  978-0-12-12979-6 10 \$1.541.91 \$15.419.10

READING WONDERWORKS INTERACTIVE WORKTEXT GRADE 4	978-0-02-126882-5	40	\$8.25	\$330.00	*Free Materials
READING WONDERWORKS APPRENTICE LEVELED READERS PACKAGE 6 OF 30 GRADE 4	978-0-02-130066-2	10	\$833.76	\$8,337.60	*Free Materials
READING WONDERWORKS STUDENT WORKSPACE 6 YEAR SUBSCRIPTION GRADE 4	978-0-02-129803-7	40	\$92.70	\$3,708.00	*Free Materials

		WonderWorks Grade 4 Subtotal:		\$24,704.70	\$0.00					
WonderWorks Grade 5	WonderWorks Grade 5									
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-129710-8	10	\$1,232.91	\$12,329.10	*Free Materials					
READING WONDERWORKS INTERACTIVE WORKTEXT GRADE 5	978-0-02-129796-2	40	\$8.25	\$330.00	*Free Materials					
READING WONDERWORKS APPRENTICE LEVELED READERS PACKAGE 6 OF 30 GRADE 5	978-0-02-130068-6	10	\$833.76	\$8,337.60	*Free Materials					
READING WONDERWORKS STUDENT WORKSPACE 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-129804-4	40	\$92.70	\$3,708.00	*Free Materials					

\$24,704.70 \$0.00 WonderWorks Grade 5 Subtotal: \$130,662.30 WonderWorks Subtotal: \$0.00



Price Quote For:

Warren County Sch Dist Subscription/MCH:

Sales Representative: Shari Reed Gary Weber (gary.weber@wcsdpa.org) (shari.reed@mheducation.com) 185 HOSPITAL DR

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

### Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Fax: 1-800-953-8691

\$0.00

Orders\_MHE@mheducation.com

\*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Social Studies - Networks					

Social Studies - Networks Subtotal:



Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org) Sales Representative: Shari Reed 185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

Orders\_MHE@mheducation.com

\$0.00

Fax: 1-800-953-8691

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

\*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.					
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 4 Networks	T				
CUS NETWORKS UNITED STATES HISTORY STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-673245-6	338	\$68.04	\$0.00	\$22,997.52
CUS NETWORKS UNITED STATES HISTORY NATIONAL TE 6 YEAR SUBSCRIPTION	978-0-02-145089-3	31	\$259.98	\$8,059.38	*Free Materials
TIMELINKS 2009 GRADE 4 LEVELED BIOGRAPHIES DELUXE SET (6 EACH OF 21 TITLES)	978-0-02-152417-4	21	\$370.56	\$7,781.76	*Free Materials
TIMELINKS 2009 GRADE 4 LEVELED PLACES & EVENTS DELUXE SET (6 EACH OF 21 TITLES)	978-0-02-152418-1	21	\$494.07	\$0.00	\$10,375.47
NETWORKS SOCIAL STUDIES CENTER SKILLS CARDS GRADE 4	978-0-02-114759-5	21	\$15.60	\$327.60	*Free Materials

Grade 4 Networks Subtotal: \$16,168.74 \$33,372.99



## Price Quote For:

Warren County Sch Dist Subscription/MCH:

Gary Weber (gary.weber@wcsdpa.org)

Sales Representative: Shari Reed

185 HOSPITAL DR (shari.reed@mheducation.com)

WARREN, PA 16365-4896

Account Number: 432222 Site Number: 478892

## Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344

34-7344 Fax: 1-800-953-8691

Orders\_MHE@mheducation.com

\* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

\*\*Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

order.		-		-	
Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Grade 5 Networks					
CUS NETWORKS UNITED STATES HISTORY NATIONAL STUDENT EDITION	978-0-02-145846-2	338	\$13.90	\$0.00	\$4,698.20
CUS NETWORKS UNITED STATES HISTORY NATIONAL SE 6 YEAR SUBSCRIPTION	978-0-02-145855-4	338	\$57.83	\$19,546.54	*Free Materials
CUS NETWORKS UNITED STATES HISTORY NATIONAL TE 6 YEAR SUBSCRIPTION	978-0-02-145089-3	25	\$259.98	\$6,499.50	*Free Materials
TIMELINKS 2009 GRADE 5 LEVELED BIOGRAPHIES DELUXE SET (6 EACH OF 21 TITLES)	978-0-02-152417-4	15	\$370.56	\$5,558.40	*Free Materials

TIMELINKS 2009 GRADE 5 LEVELED PLACES & EVENTS DELUXE SET (6 EACH OF 21 TITLES)	978-0-02-152418-1	15	\$494.07	\$7,411.05	*Free Materials
NETWORKS SOCIAL STUDIES CENTER SKILLS CARDS GRADE 5	978-0-02-114759-5	15	\$15.60	\$234.00	*Free Materials

Grade 5 Networks Subtotal: \$39,249.49 \$4,698.20

Signature of School Official

VALUE OF ALL MATERIALS	\$876,493.62
FREE MATERIALS	(\$535,068.58)
PRODUCT TOTAL*	\$341,425.04
ESTIMATED SHIPPING & HANDLING**	\$9,226.00
ESTIMATED TAX**	TBD
GRAND TOTAL	\$350,651.04

Comments:	
	٦
	_
School Purchase Order Number:	
By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service. Subject to Subscriber's payment of the fees out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set fi	rth
above to access and use the Subscribed Materials under the terms described in the Terms of Service. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscriptio term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'),	1
provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.	

Name of School Official (Please Print)